Risolvi le seguenti equivalenze.

41Kkm3 = .. hms3
0,176 Km2 = .....cccvruene m?
0,133 dam? = ................... m2
32Kg = e, Hg
14.23km = ..o dam
3835dg = ..o, Hg
POmMm = .. cm
0,241 Kkm3 = ....cceeven hm3
6,6d = ....oeennn cl

2354 M3 = .., hm3
4807 ¢l = .o, hi
0,0245dm® = ......cceccvvenen cm3
22,1 mMm2 = e, cm?
9a= e, ha

17ml = cl
0,15ha = .....ccovvvvenee a
800Ccm? = ..o dm2
2,82ml = . cl
0,71 m3 = ..o, dm3
3593mMg = ..o, cg
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0,101 km3 = ...
0,216 dm2 = ...................
271cl = .. I
598 = i, ha
0,3997 km = ....cceeevennnn,
3535ha = ..o, a
16,31 = v dal
83mMg = .o, cg
149cg = .o, g
2449 = e, Hg
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Soluzioni

4,1 km3 = 4100 hm?
0,176 km?2 = 176000 m?
0,133 dam? = 13,3 m?
3,2Kg = 32Hg

14,23 km = 1423 dam
383,5dg = 0,3835 Hg
99 mm = 9,9cm

0,241 km3 = 241 hm?3
6,6 dl = 66 cl

2354 m3 = 0,0002354 hm3
4807 cl = 0,4807 hl
0,0245 dm3 = 24,5 cm3
22,1 mm? = 0,221 cm?
9a = 0,09 ha

17ml = 1,7l

0,15ha = 15a

800 cm? = 8 dm?

2,82 ml = 0,282 cl

0,71 m3 = 710 dm?3
3,993 mg = 0,3593 cg

0,101 km3 = 101 hm3
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0,216 dm? = 21,6 cm?
271cl = 2,711

59a = 0,59 ha

0,3997 km = 39,97 dam
35,35 ha = 3535 a
16,31 = 1,63 dal

83mg = 8,3cg

149cg = 0,149¢g

244 g = 2,44 Hg
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